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Topic:- GENERAL HINDI
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Correct Answer :-
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Correct Answer :-
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Correct Answer :-

4) fFrafafea & 3 mmi s & e o a1 g faea o 32
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Correct Answer :-

Correct Answer :-

. dafd

6) APV P AP G FFTH B Tt g
1. faam + four

2.ﬁ+3ﬂ+§%n§+@‘cfw

3.1+ P + 07

4. ol + PT]

Correct Answer :-

o fa+ 31+ P Urg + g vag

7) 9 R fapeul #f F TAOP &1 g T HT ATE?
1. FeaTqul
2. Gyl



3. g o
4. TG

Correct Answer :-

8) - faw T aTeRl ¥ | FiaTeg are arR B AT R?
1. 93 TR R feran |

2. o forad €

3. 9 U3 e} fore w1

4. TR A B3 T8

Correct Answer :-

. O IR gRY ferar |

9) <9 &R Wit <t at i aR @it 3 A I AT AABR 72
1. TN

2. ¥UH

3. gUS

4. I

Correct Answer :-

10) ‘3R-ATR BT 59 geTax 31 Y Fafaf@d e d A s ard?
1. §GH §M
2. gfg AV g

3. FAIBTHAT guf T

4. S ST

Correct Answer :-

A HERSEIE|

Topic:- GENERAL ENGLISH



1) Choose the option that best expresses the meaning of the highlighted idiom/phrase:
Their father has a blind spot about his children’s education.

1. very strict upbringing

2. a silent passion

3. secret place known only to him

4. an aspect difficult to understand

Correct Answer :-
» an aspect difficult to understand

2) A sentence with an underlined word is given below. Choose the correct option which is closest in meaning to
the underlined word:

Don’t try to cheat me by concocting a cock and bull story.
1. replicating

2. copying

3. inventing

4, lifting

Correct Answer :-
¢ inventing

3) Out of the following options, choose the most appropriate usage to fill in the blank:

The book narrates the journey of the author's life the momentous political developments in India in the
last eight decades.

1. on the context for
2. with a context to
3. by a context with

4. in the context of

Correct Answer :-

¢ in the context of

4) Out of the following options, choose the most appropriate tense that best fills in to complete the given
sentence:

Although my friend me for a long time, he me at once.

1. had not seen, recognized



2. had not seen, was recognizing
3. has not seen, recognize

4. was not seeing, recognized

Correct Answer :-

* had not seen, recognized

5) Out of the following options, choose the correct form of verb that is in agreement with the subject for the
given sentence:

There ____ no prescribed hours of attendance for office managers.
1. have

2. are

3. has

4. is being

Correct Answer :-

6) Out of the following options, choose the correct form of adverb for the given sentence:

The photograph brought back old memories.

1. laziness
2. blunted
3. lethargy

4. instantly

Correct Answer :-

e instantly

7) Out of the following four options, choose the incorrect sentence:

1. It is necessary for capital to exploit labour if competition is endangered.

2. In horoscope, astrology considers the influence of the Sun in relation to the other planets.

3. Indian Buddhism was the first religion to preach the idea that nothing remains of a man after his death.

4. Psychoanalysts advocated reduction of complex behaviour patterns to trained response.

Correct Answer :-



¢ Psychoanalysts advocated reduction of complex behaviour patterns to trained response.

8) Arrange the sentences P, Q, R and S to form a logical sequence between sentences 1 and 6.

1. The 1962 budget introduced for the first time a tax on sweets.

P. That is the effect of Selwyn Lloyd's budget.

Q. His tax proposal was greeted by Labour cries of “shame” and “It's a pocket money tax”.
R. The children are Britain's new tax payers.

S. He slapped a brand new tax on sweets, ice-creams and soft drinks.

6. But Lloyd refused to budge.

1. RPSQ
2. PQRS
3. SRQP

4. QRSP

Correct Answer :-

Topic:- GENERAL KNOWLEDGE

1) As per the Census 2011, Madhya Pradesh has a sex ratio of females per 1000 males. /

SRIUMT 2011 & IR, Heg WS ¥ 1000 fa i ux __ 1 wfgenaii &1 fRivr srgura 21
1. 897
2.931
3. 1011

4. 1026

Correct Answer :-

e 931

2) The Ruias-run Essar Oil sold its India assets for $12.9 billion to which major energy company? /
$IT GRT AT TR 31d = (U1 YIRd B HURT 12.9 3RT STeR # fohd U@ Soil Su-il 3t 99 12
1. Exxon / Qa'\‘:h:f

2. Gazzprom/ ﬁatr”rq

3. British Oil / foife= siige

4. Rosneft/ ST

Correct Answer :-



« Rosneft/ ISHUC

3) To commemorate which among the following freedom fighters from Madhya Pradesh, did Govt.of India issue
a coin of the denomination of Rs.200/- in the year 2016 ? /

u Y= & FufafEd wdar Sl § 3 feae! Wfd § YRd WReR 3 ad 2016 & 200/ - 9 arar Ryasdr
Y o U2

1. Rani Lakshmi Bai / I <eedt €18
2. Jhalkari Bai / TABRI dT5

3. Chandrasekhar Azad / d'QQ\I{gQ 3llq

4, Tatya Tope / dIl <1}

Correct Answer :-
« Tatya Tope / dlIcdl au

4) Selection Committee for Dronacharya Awards in 2016 was headed by /

2016 ® IR RIBR & g Tu= afifa $t sregerar ERI &1 713 A
1. Mary Kom / B} &1

2. KapilDev/Wéﬁ

3. PullelaGopichand / &l TdTeg

4. Rajiv Yadav / 3Tofd dTgd

Correct Answer :-

» Mary Kom / BRI

5) What was the total strength of the Constituent Assembly? / Tfaer guT 31 d @ a1 A
1. 350

2.350

3.389

4. 389

Correct Answer :-

» 389

6) Who was appointed as Director General of Ordnance Factories (DGOF) in July 2018 ? /

JdTg 2018 § HETeRI® Mgy fFAuifort (Sieftenuw) & wu o frw frrgaa favar mam ume



1. Shri P W Ralegankar / TR S&Y, EINUIEEES

2. Shri Saurabh Kumar / oY @T‘H PHR

3. Shri Sunil Kumar Chourasia / %1 ﬂ:ﬂﬁ PHR IR
4. Shri P K Shrivastava / ftdt & frarda

Correct Answer :-

o Shri P K Shrivastava / At dt & frarda

7) Who among the following was the 3™ Chief Minister of Madhya Pradesh? /
fFafafed 9 9 o9 7w wex & dR gerE a2

1. Pt. Ravi Shankar Shukla / U. Xfd Q&R RICHI

2. Pt. Dwarka Prasad Mishra / U. §RPT UG {41

3. Mr. Bhagwantrao Mandloi / oft Wﬂ?ﬁﬁ'ﬁc

4. Shri Kailashnath Katju / 47 S@RITY Teg]

Correct Answer :-

- Shri Kailashnath Katju / 4 SR HTes]

8) Where in Madhya Pradesh the Vindhyachal Super Thermal Power Station is located? /
Heyew § fiearae YuR yHd Urar R $al (R 22

1. Betul / éﬂa

2. Vidisha / fafc=m

3. Damoh/ath_s'
4, Singrauli / RITRYaH

Correct Answer :-

« Singrauli / RfTRIH

9) Madhya Pradesh is in the number of tribal habitations covered by drinking water supply
as on March 2018 as per notification issued by Govt. of India. /

YRA TRHR GRTART SFERTEAT & SR U 2018 TF UGS SATYfd §RTFAR 1 TS Sfearit
ST B =T W 7 U= VAW EI

1. 4th /Yy



Correct Answer :-

R lst/'qga'

10) Which Indian sports personality was awarded the Bharat Ratna in 2014 /
fFa uRdta W afdaa B 2014 § HRA ¥ O gwATC foam Tam o

1. Dhyan Chand / &9 9¢

2.P T Usha / O1. &1, QW

3. Milkha Singh / fferar g

4. Sachin Tendulkar / RICE] ?lw

Correct Answer :-

« Sachin Tendulkar / Gf dgeihR

Topic:- GENERAL REASONING

1) Find the missing number: / YW H&IT Td H3:
2,3,10, 29,66,

1.130

2.99

3.89

4.127

Correct Answer :-

o 127

2) If D = 4, BAD = 7, then what is the value of ANT =? /
gfe D = 4, BAD = 7, @ ANT = &1 {9 T 8?

1.35

2.37



3.8
4.17

Correct Answer :-

e 35

3) The below series uses a sequence of alphabets and numbers. Identify the incorrect combination: /
A= & 1€ e sreRY ud GeImaHl T ShH WART Bl 8 | TAd S Ugd:

(i) NR14TER15ER

(ii) NR14IER15ER

(iii)NR14TER15ER

(iv) NR14TER15ER

4, iii

Correct Answer :-

4) There are 20 students in a Physics class and 26 students in a Biology class. Find the number of
students who are either in a Physics class or in a Biology class, if the two classes meet at the same hour.

/

Hifae! wam # 20 BT & 3R Siia fags= &1 Fam A 26 B €1 TS S F&TT T 8 U R et & o 39 ol &t
TST T B3 SNl 71 o Hifds) B pam A & a1 Siig g & sen d 2

1. 40
2. 46
3.42

4. 44

Correct Answer :-

5) Which one of the following four addresses is NOT EXACTLY same as the one given below? /

Frafefed fog e ar ual 7 9 = 3 T ud & St a0 o149 91 v@ 761 82



MARY ROE
MEGASYSTEMS INC
SUITE 5A-1204
799 E DRAGRAM
TUCSON AZ 85705
USA

(i) MARY ROE
MEGASYSTEMS INC
SUITE 5A-1204
799 E DRAGRAM
TUCSON AZ 85705
USA

(ii) MARY ROE
MEGASYSTEMS INC
SUITE 5A-1204
799 F DRAGRAM
TUCSON AZ 35705
USA

(i) MARY ROE
MEGASYSTEMS INC
SUITE 5A-1204
799 E DRAGRAM
TUCSON AZ 85705
USA

(iv) MARY ROE
MEGASYSTEMS INC
SUITE 5A-1204
799 E DRAGRAM
TUCSON AZ 85705
USA

1.1

2.1v

3.1

4. iii

Correct Answer :-

. i

6) Find the average. / 3NTd SIGK: 2
78,56, 90, 42,76 & 84

1. 89



2.71
3. 69

4. 59

Correct Answer :-

e 71

7) A and B together can do a piece of work in 9 days. A alone can do it in 12 days. In how many days can B
alone do the same work? /

A 3R B U 1Y HTH & TP UTT B 9 fl & [T 21 A 3Fd 39 $H & 12 3= & [R1 &2 govar 1 fraq f=i 4, B
AP I BTH B T HR THdl 32

1. 30 days /30 fa=
2. 34 days /34

3. 36 days / 36 f&
4.32 days /32 fa

Correct Answer :-

. 36 days /36 e

Topic:- PEDAGOGY

1) Aldred, Green and Adams (2004) employed which type of design when reviewing an intervention for
children with Autism? /

Tee s, WA 3R TS (2004) A TIAHAT (3iTfewH) aTd T=af & geaaly 1 I HId I PI Re &
fevmes= &1 fFaifera fean

1. Independent samples / TId3 :l'qff

2. Cascading / SATUSH (HIHIST)

3. Matched samples / NG ﬁﬁq Ry :ﬁf[
4, Randomized Control Trail (RCT) / grefwse (A0 e (3RYT)

Correct Answer :-

« Randomized Control Trail (RCT) / Trefwses a0 udieor (\HR@_C&)

2) The main proponent of the cognitive theory of teaching is: /
Rrgror & SIS Risia & -1 RAad o
1. Kohlberg / W 7



2. N.L. Gage / U-. Udl. |
3. B.F. Skinner / a)fw PR
4. Shiv Kumar Mithra / 779 PHR GE]]

Correct Answer :-

« N.L. Gage / U. Udl. S|

3) The major advantage of students playing games in the school is : /
faenffal &1 wpa A @9 W) Qe 1 vgE Y e g e:

1. It makes them strong. / T8 3 Holgd §-Td g |

2. It makes work easier for teachers. /WﬁT&‘lﬁ% Gbllfﬁ S INIGKEEIGE] %I
3. It develops co-operation and physical balance. / dg AN P HIGT TUT IR 1\-'lTj,T'IT‘T fomfad wdr %I

4. Tt helps in passing the time. / I8 9T atd B H TSI Bl ¢ |

Correct Answer :-

« It develops co-operation and physical balance. / g T8I &t HIIHT YT ARG ﬂﬂ?ﬂﬁﬁﬁ hdl %I

4) The intellectual skills are reflected by: /

difS® P A= & gr1 ulaféE eid 8:

1. Physical domain / Hifd® & (BT d SHH)

2. Cognitive domain / GRS JHET (BI-Tcd SIH)

3. Psychomotor domain / A-T:UR&® & (AZPHIHICR SIHH)

4, Affective domain / HIdIHD NIREF] (GTW _ﬁﬁfl:l‘)

Correct Answer :-

« Cognitive domain / ST & (@IHITCd SIHA)

5) During role play, which technique is most suitable for observation and recording? /

@W?ﬂ?ﬁ(ﬁﬁ@)%ﬁﬂﬁ,aﬁ?ﬁaﬂﬁmsﬁlﬁ@?%msﬂﬁﬁﬁﬁﬁwm
SUYH B2

1. Videography / Jifsarmet
2. Manual recording / WWW T 3 e (ﬁﬂ&lﬂ Rpife)
3. Audio recording / 44 ffreRaT (&r”r%u‘r |Q$i|§‘|)



4. Observation by experts / TARISII GRT [T ST ATl 3fddlh -

Correct Answer :-

« Videography / difsarmet

6) Erikson’s psychological theory: / TR &1 'q:ﬁéiﬂm Rrgia:

1. Is a behavioral theory of development. / famTg &1 Udh HTagiRe Rigid %I
2. Is a systems theory of development. / faH T &1 U UueiiTd Rigia %I

3. Is a heuristic theory of development. / faeg H1UH Hﬂﬂ'lzﬁ Rrsia gl

4, Is a stage theory of development. / T &1 TP gt Rigia 3|

Correct Answer :-

« Is a stage theory of development. / AT &1 T Sfawi1 Rgid %’I

7) Logic is based on: / d& e R STl Eﬂ?IT %:

1. Deductive reasoning / TS T

2. Inductive reasoning / 3[HIHD SE3

3. The ability to use vocabulary / Jarac o IYANT B &l
4. Divergent thinking / USR] foia=

Correct Answer :-

« Deductive reasoning / fARTHATHS b

8) According to social learning theory of Bandura, which one of the following is true? /

ST F TS T Rigia ¥ 3guR, AT A A s I aa 82

1. Cognitive development is independent of physical development. / ST D iaohl%l, RIS fapg R R
TR g

2. Modeling is a principal way for children to learn. / gfaequr (ﬂu'lgﬁ“l"'[) gl & e & forg uqyd BRI

3. Play is essential and should be given priority in school. / AICdh YD % 3R 3@ T d T YT dr &1 S

Bl

4. An unresolved crisis can harm a child. / 3T Hh<, e &l JH Ug T b gl

Correct Answer :-

« Modeling is a principal way for children to learn. / PIRESELY| ('JZIV'I?:ﬁF'D Sdl & Iha & fau uqyq RIBT %I



9) Which of the classification belong to Kretschmer’s Personality types? /

= § 9 o9 a1 arffevur, $R & Afeia U=u 4 Hafid @2

1. Introvert / Hﬂﬁ@ (3_@3_5‘)
2. Sanguine /@mﬂm

3. Melancholic / AATGUR (AT IfcIdh)

4. Pyknic / JCHT (UTSh D)

Correct Answer :-

« Pyknic / JCHT (UISH D)

10) Which of the following is a teacher-related factor affecting learning? /
Frafafed # & 19 a1 Rige-Hdlia $R® § ot it &1 ganfad a1 82
1. Mastery over the subject-matter / ﬁwxﬂ{[ X ﬁ'@cﬂ?ﬂ

2. Facilities provided to the teacher / fR1&f& 1 Ua &1 1 gfaemy

3. Availability of teaching-learning resources / TRI&-3{{STH eI DT SUARIT

4. Proper seating arrangement / doH B I SR

Correct Answer :-

« Mastery over the subject-matter / ﬁﬂ’q—aﬁ X ﬁHUF‘lT

11) Relatively permanent change in behavior refers to: /

IER # 3ampd W uRad= fore &1 gwifar 8:

1. Perception / 3@@
2. Motivation / OO

3. Learning / 3AfETH
4. Intelligence / §@ﬂ?ﬂ

Correct Answer :-

« Learning / 3{TRTH

12) To get educational problems solved effectively, it is better for a student to go through: /

QAfdre a3 B GHTE 71 A gd B34 & forg, T faemft & forw dgar & f 98 59 SruAm:
1. Therapy/?ﬁ'fﬁ



2. Group discussion / JHg EEll

3. Tuitions / &[T
4. Guidance / Al geF

Correct Answer :-

» Guidance / Ar evfF

13) Object permanence is learnt at which stage of development? /

eI Wi, fasra & 5w avor & diar oman &2

1. Sensorimotor / Fdd! IR® (AARMHICR)

2. Preoperational / Jd-sh AT (MO

3. Concrete operational / Td ST (HehIc SHTURT)
4. Formal operational / 3d \ifhaTcA® (BIH SHTORRA)

Correct Answer :-

. Sensorimotor / Jddl IR® (@WET)

14) First step of measurement is: / U HT gl IX0T %:

1. satistical analysis / Jifkeae g fovayor

2. identification and definition of attributes / ‘IUﬁ T faQqyarett ol REIGH G'ﬁT TICHTST
3. determination of norms / AT| BT FAYRT

4. preparation of scale / T B U

Correct Answer :-

« identification and definition of attributes / ‘IUﬁ 7 faRidraf o1 CREIG GﬁT gRHTT

15) A child with learning disability manifests which of the following problems? /
feRTH & srarm 9= &) Frforfea # &« aan gt 82

1. Left to right orientation problem / §TT a8 3R Sifiifa=ary deeht T

2. Mood swings problem / A-:GRIT &1 RURaT Taieh o

3. Disjointed thought problem / 3G foaR IO

4. Divided attention problem/ & CRE IR

Correct Answer :-



« Left to right orientation problem / T4 T aT3 3R HTIN Jat qaxm
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